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Overall Description:
TSG GERAN WG2 thanks TSG GERAN WG3 for their LS in GP-051642 and would like to provide the following quick answers. 
First opened point : BOW=0
Question:

Is ‘BSN = [SSN-1] mod SNS’ still negatively acknowledged when BOW=0 (i.e. SSN is not equal to [V(Q)+1] mod SNS)?

Answer:

If ‘BOW=0’, then SSN is equal to [PBSN+1] mod SNS, PBSN (Partial Bitmap Sequence Number) being the last sequence number for which Ack/Nack status could be indicated in available space of a previous ACK/NACK message. Therefore no information can be derived on BSN = [SSN-1] mod SNS from the current bitmap.
Second opened point : BSN retransmission  
Question:

What would be the exact definition of the “oldest” RLC data block with the PENDING_ACK status ? 
Answer:
“oldest” RLC data block = RLC data block with the lowest BSN considering the modulo SNS operation among those with PENDING_ACK status, i.e. the RLC data block with PENDING_ACK status and BSN = BSN’ that minimizes [BSN’-V(A)] mod SNS.
Date of Next TSG-GERAN Meeting:

TSG-GERAN # 30
June 26-30, 2006
Lisbon, Portugal
